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You can combine all three steps on one line if you like!
ol B 2 wmol AN N6.9% A\

Lmol B0 . ALY p IPEARA A\

\SC/,%O?) Brl 2 mol \5\/‘7_ 1vv\o\ A\

® © ®

You can solve the second part of the question using CONSERVATION OF MASS - since there's
only a single product and you already know the mass of all reactants.

/)-S :()v \?)(‘9_

25 O¢ By X

Buft ...
~ 251 3 D\ \ ...what would you have done to calculate the mass of aluminum
bromide IF you had NOT been asked to calculate the mass of

27 .5 g A8 Guminum FRsT?

| mol B2 . Lol M3y , L6669 s Al Bry

15,0 o Bry % = 1.
DTS00 B, Bma B Lol ALy !%1%%3
© ® ® o
convert mass convert moles convert moles
bromine bromine to aluminum
fo moles moles aluminum bromide

bromide fo mass



o Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with
25.0 g of sodium carbonate?

1}— Q) Cog )+ NO\'LCO (s 7 Ha0(8) +log(gle BM-C 1leq)

1 - Convert 25.0 grams sodium carbonate to moles. Use FORMULA WEIGHT.
2 - Convert moles sodium carbonate to moles HCI. Use CHEMICAL EQUATION.
3 - Convert moles HCI to volume HCI solution. Use MOLAR CONCENTRATION.

@ NCA'L('O VMgt R LL.489
- C* )l ¥ 11.0]
O+ 3% 1b.00
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mu| N&ICOZ
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@ 1mo\ HC|\“ mO‘ {V(""qug

7 mol HCI
mO\ /V(’”L( O&

19.04 My Oy X ~0,235%7(30€b md NaylOy

0,1'5537[3()@(7 m) N&\lcog)( :O,L{7|7f’(16’72w\ HC|



e Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with
25.0 g of sodium carbonate?

2R g )+ Nay L0, (8) =7 Ho 0(0) ¥ (0 (g)+ 1= \ (29)
1 - Convert 25.0 grams sodium carbonate to moles. Use FORMULA WEIGHT.

2 - Convert moles sodium carbonate to moles HCIl. Use CHEMICAL EQUATION.
3 - Convert moles HCI to volume HCI solution. Use MOLAR CONCENTRATION.

@ 6.00mo| H(| =
0.4 7426177 mh HC| x

L
C—;,Obmo| H ¢

\ 20.07%6 L ot 6.00 Ay HC|

Notice the problem statement asks us for MILLILITERS and we have LITERS. No big problem
here ... we just need to do a quick unit conversion.

m L:ID'“BL

0,076 L x "= |75, b wmL of 600 HC|
10" 3L
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25.0 mL of acetic acid solution requires 37.3 mL of 0.150 M sodium hydroxide
for complete reaction. The equation for this reaction is:

Mo.OW + (M3 05 —> Na (243 0 + H20

What is the molar concentration of the acetic acid?
L mol HCoMz0,

L. Selutivn <——— :15,01”\[- or 0,010

Since we already know the volume of the acetic acid solufion, we just need to find out the
moles acetic acid in order to get the concentration. How do we find THAT? Start with the
37.3 mL of sodium hydroxide. Since we know the concentration, we can relate that volume

O 572 | 0,150 mol MaOH = L | mol MaOW = mol HGH0,

- 0
1) x 1O 02180 mel Mal 7 EGAT g 00 <96
N mol MO HC WOy

— —

0 - ol HCakig0z 0. 00S 895 ml HEa 0y | 124 M RGOy

L. Saslution 0,01lS0

*Note for later: This is how the main calculation for EXPERIMENT 4C will be donel!
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H'l_,()(é|3|m0\ 3,069 9lmu\
P, = Lo — H (N «6HL0 « Ny,

propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 Iig.of propylene, assuming

there is excess NO present. —

1 - Convert mass propylene to moles. Use FORMULA WEIGHT of propylene (and kg->g conversion)
2 - Convert moles propylene to moles acrylonitrile. Use CHEMICAL EQUATION
3 - Convert moles acrylonitrile 1o mass acrylonitrile. Use FORMULA WEIGHT of acrylonitrile.
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|S\.°/O’9/mu\
10 FeSoy + 2 kmno, + S50y —>5Fe, (S0, ), L Mndoy~ kS0,
+ %HL'D

How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?

1 - Convert 3.36 grams iron(ll) sulfate to moles. Use FORMULA WEIGHT.
2 - Convert moles iron(ll) sulfate to moles potassium permangenate. Use CHEMICAL EQUATION.

3 - Convert moles potassium permangenate to volume. Use MOLAR CONCENTRATION.
1S1.90, Fesoy = ml e So ‘ 10 mof £€S0 = L oot KM R0,

O. LSO myl Wmv)f)c{'-(_ ‘ mL:m*BL

m| T S 2-%05 [’(Mho L
< ’ 4 L ML .
3-369% L K }Sl.qoj FQSO%*'[OWJ‘ Feso%XO.lSO mol W”'“O%% IO’E‘L*
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